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1) If f (x):{zx F3OXZT2 e lim f ()=
2X +5 ;X <-2 x—(-2)"
[a] 3 b5 L ld]-1
2) Iff(x):{zx F3OXZTZ e lim f ()=
2X +5 ;X <2 x —(~2)"
[a] 3 [b]5 1 [d] -1
3) If f (x):{zx T3 OXZT2 en limf ()=
2X +5 ;X <=2 X—>=2
[a] 3 [b] does not exist 1 [d] -1
2 VRN
4) 1f f (X):{xx3—3>z<x—+1§ i ;3 then limf (x) =
[a] 6 [o] does not exist 21 [d] -6
X2-7x x<1
5 Iff (x)= 5 ,1<x <3, then limf (x) =
33X +1 ;3 < X "
[a] 5 [o] does not exist 10 [d] -6
X2-7x x<1
6) Iff (x)= 5 1<x <3, then limf (x)=
3X +1 ;3 <X "
[a] 5 [o] does not exist 10 [d] -6
X°-7x x<1
N Iff(x)= 5 ;1<x <3, then XILTf (x)=
3X +1 ;3 <X
[a] 5 [o] does not exist 10 [d] -6
X2-7x x<1
8) Iff (x)= 5 ;1<x <3, then XILTf x)=
3X +1 ;3 < X
[a] 5 [o] does not exist 10 [d] -6




X2+X —6

. X2 -4>0
9) 1Ff ()= X 4 , then lim f (x) =
X“+X -6 __, X—2"
W X -4<0
[a] % [b] does not exist - % [d]o
2
XJ;—X_E’ X2—4>0
10) Iff (x)=4 X ~ , then limf (x)=
X“+X -6 2 X2
——— X" —=4<0
4—-x
% [b] does not exist - % [d]o
11 tim X8
Xx—=a X —a
does not exist 0 1 -1
B b] c]
12) |imU=
x—a" X —a
does not exist 0 1 -1
lal b] lc]
13) Iimuz
X—a X —a
does not exist 0 1 -1
lal b] c]
14y 1im BX1_
x—a" X —a
does not exist 0 1 -1
B b] c]
15) 1im A1
Xx—=a X —a
does not exist 0 1 -1
B b] c]
16) timP %1
X—a X _a
[a] does not exist [b] 0 [c]1 [d] -1
17y tim KAl
x>-a X +a
[a] does not exist [b] 0 [c]1 [d] -1




18) lim |X +a|
x>-a" X +a

[a] does not exist

10) tim K+l
x>-a X +a

[a] does not exist

20) 1im 2l _
x—0" X +|x|

[a] does not exist

21) tim 2% =X _
o0 X 4]

[a] does not exist

22) lim 2 X1 | _
=0 x 2 +[x|

[a] does not exist

COSX —SinXx
23) lim —— =
x—% c0S° X —Ssin?x

[a] does not exist

24) lim cos% X + 2C0SX -3
HO 200s2X —COSX —1

[a] does not exist

4
bl 3

25) Ilm(sm X +3tanx — 4)

x —0

b] -1

[a] does not exist

26) If m 0, then lim 3™ _
x —0 mxX
. n m
[a] does not exist @ — . [d] n
27) If m =0, then “mtan(nx)
x —0 mx

[a] does not exist

bl




28) If m =0, then lim

x-05in(mx )
[a] does not exist [b] % % [d] n
29) If m =0, then lim " _
x-0 tan(mx )
[a] does not exist o] % % [d] n
30) If m =0, then lim>M(™) _
x-05in(mx )
[a] does not exist [b] % % [d] n
31) If m 0, then lim>M) _
x-0 tan(mx )
[a] does not exist [b] % % [d] n
32) If m 20, then lim20(M) _
x-0 tan(mx )
[a] does not exist o] % % [d] n
33) If m 20, then lim-20(X) _
x-0sin(mx )
[a] does not exist o] % % [d] n
34) Iimsm(l—cosx) _
x-0 1—CcosX
[a] does not exist b] -1 c]1 [d] o
x-0  sin(2x)
[a] does not exist b] -1 c]1 [d] o
x—0 X
[a] does not exist [b] % 0 [d] 2




37) lim /i2_§+4:
xom\[ X X

@ —00 @ +2 2 @ 0
. 1
38) XILrpw(X%+2j:
[a] 0 b] oo [c] 0 d]2
39) lim— 1> _
x-= QX © +4x —13
1 1
aft Bl X @
2
40) lim 3x2—8x +15
x-2 QX “ +4x —13
1 1
&l o Bl: B @
2
41) lim 3x2—8x +15
x>0 QX “ +4x —13
1 1
&l 0 B EX @
5
42) lim 3x2—8x +15
x-2 QX “ +4x —13
1 1
@l o B G @
5
43) lim 3X2—8X +15:
x>-2Qx “ +4x —13
1
@l o B~ B -
44) Iim(\/xz—Sx +7—x):
3 3
& -2 B0 @
45) Iim(\/x2+x —x):
1 1
a1 e I T
46) Iim(x2—5x +4):
@ — plo ¢ [«




47) lim (x ' —2x°+9) =

X —>—©0

[a] —oo b] 0 c]9 d] o0
2
48) lim YX"—8+2_
Xxomo X 49
[a] —oo b] V3 c] 3 d] o
49) lim ¥ —8+2 _
xow X 45
] — b]va k-3 [d=
, 2
50) The horizontal asymptote of f (x)= 3Xx ;§+2 IS
[a] y =43 b] x =43 c]x =+3 [d] y =+43
51) The horizontal asymptote of f (x) = 17X s
2x +1
1 1 1 21
EY——E @X_E [c]x = 5 EY—Z
2
52) The horizontal asymptote of f (x):7X2Jr5 IS
33X +2
_7! __7 __ ! _7
a] y =3 bl y=- 2 c]x=-3 d]x =2
/ 2
53) The horizontal asymptote of f (x )= X" +2x -3 IS
2X +7
a] y:i% @x:i% ] x =42 [d] y =+2
54) The horizontal asymptote of f (X)=———— “22)(_3 IS
2X 4+ 7x -1
la] y=-2 blx =2 [c]x =0 d] y =0
’ 2
55) lim NAX“-8+3 _
x> X +1
[a] —o b] 2 [c] -2 d] o
56) ”m—q4x2—8+3:
xoo X +1
@ —00 E 2 —2 @ 00




